SCM 2 — Jihod¢esky kraj
Nymburk 13.-20.10.2019

Ne 13.10.

R600, 10x100VZ (int 10) , 100 volné,

400 (25D+25DvInéni) pl,

1000 (25PrKn + 25K + 25PrDn +25D),20x50K(10xnpl,10xrpac) , 1000 (100K + 50Z)pl,
, 4x200pz n,r, 2001ib 6,3

Po 14.10.
R600, 200PZn, 200PZr, 200PZ, 600 (100PZ! + 50ZS),
20x25 In, 16x100 K (1.20), 100vypl, 400 K max, 200 P,
, 8x100 PZ (1.40), 200Z,
800Ksn,vypl

6,4

R600, 10x50 ( 25D + 25DnPr), 10x50 (25pod vodou + 25DnPr),
3x500K, 3x400K, 3x300K, 200voln¢,400Kn,
16x50PZ,400KT,vypl.

7,0

Ut 15.10.
R600, 4x (2x50I — 40vt., 100PZ — 1.20,) 500Dn+D,
20x100 VZ, 400 volng,
200In, 200Ir, 2001 techn, 5x200PZ, 8x50 (25D + 25voln¢)
200vypl.600K, 400PZ 75¢v,25s,

6,9

R600,600Incvn, 3000K!, 200volné, 5x100In,500Zpac,5x100Icv,
4x200PZ(50n,50cv,100s)
6,7

St 16.10.
R600, 10x50Dnpl, 100ZS,

100K (int5), 200PZ (int5), 400K (int10), 800PZ (int1),

., 400K (int10),

200PZ (int5), 100K, , 6x100KDnpl,vypl ,600KZ 4,5



R600, 10x50 (25pod vodou + 25DnPr), 2x 16x50 DZ, KD — 45,
200volng, 2x 400K (5.30), 200K (2.40), 100K + 100vypl.,
10x50In, 1000Kpac, pl, 100vypl.,3x (200PZ+1001),300 volne

7,2
Ct 17.10.
R600, 10x100PZ (int10), 200vypl,
2x(10x200K),400lib.
16x50Dpl (25n + 25D), 600Pr+Pn+P,),
, 200vypl.
7,6

R600, 1500K!, 400PZ!,4x50Knpl,8x25DZnpl,],
2x300r ( I, PZ po75m), 1000Kpac,pl, 8x200K,PZ,
200vypl, 4x501 max! + 50 volné&, 300n -250PZ + 501, 100 volné

6,6
Pa 18.10.
R600, 10x50K (40), 10x50In, 200Z,
2x (800K,400K,200K.100K,, 400Z,P volné,
1000 ( 100Z, 50Z vInéni, 100P), 100 vypl.
4x100 I, 8x50 I, 100vypl.
6,0

R. 600, 8x50 PZ N+R,4x150 PZ, 200PR+KN,
4x4x100K,I, mezi 200cvI, 3x400Kpl,pac,6x25kBD , 4001cv,

5,6
So 19.10.
R600,4001(200n,200cv), 2x(25x100K), mezi 400lib,
8x50Dnpl,, 400lib. 7,2

R. 600, 400PZ 50n+50cv, 4x10x50k — 25!'+25T, mezi 200In,cv,
3x200Pr+DKn, 400,200,100PZ, 1000KZ — 25+25,50+50atd.,
600Icv+S,

6,1

Ne 20.10.
R. 600, 4x200PZn,s,cv,s, 8x100 I 3min!, 1500K,pac-4.B!,

20x25DKnpl, 400 25PV+75Z, 8x200K,400lib.
6,6



